Warm-Up

% MULTIPLE CHOICE The equation 17 — %xz = 12 has a solution between
which two integers?
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Solve Quadratic £tmrr§5
by the Quadratic ofmula
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*We use the Quadratic Formula
to solve any quadratic that
cannot be factored and has

both an x2 and x term!

*This formula will ALWAYS
work!






Quadratlc I-'ormula

substituting values for ange your equation into the form a




Solve each equation with the quadratic formula.

2x* = 3x-5=0
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9x* — 11 = 6x /"Z'X
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Find the dimensions of the rectangle.

A = 91 m?

G) (x +2)n
CLD ()(4'2)(2»(4-‘9: A \

(2x + 3} m =9\
ZY'LL'BK_‘_‘-/;(-LQ ;

,él_l'z\(L_L"?\(_,_ ( = &l
- = O
ZV?HJ‘( 4 €3

S—

\

A= L -7 _L_J:‘z__;q.gffr
B = XK=——,] =
=& b
= =1 & (@ Lso_
-BL( - L/
=




https://www.youtube.com/watch?v=jGJrH49Z2ZA
o


https://www.youtube.com/watch?v=jGJrH49Z2ZA
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